-L—I1b 1/2-

y "ITI" ’vv..-»., ,;ﬂ

./
I,"' COPPIY S e

POPOPT IV ad )

“TiE 5| BEE

Okg 5.5 |50.80 |50.80 |25.40 |14.29 [27.78 [8.73 |4.76 . 5.98
9kg 5.5 ]63.50 63.50 |32.10 |17.48 [35.72 [10.30 | 5.90 . 8.94
10kg 55 |66.67 .67 134.13 |118.26 |37.30 |11.11 [6.35 . 10.1
12kg 10.0 |69.85|69.85 [38.10 {19.85 [37.30 {12.30 | 7.54 . 12.2
15kg  [10.0/12.0{79.37 |79.37 |42.86 [22.22 |43.65 |13.50 [ 8.33 . 15.2
22kg [10.0/12.0{93.66 . 50.80 [26.99 |50.00 |16.67 |10.72 . 22.3
30kg  [10.0/12.0]107.95 [107.95 |60.33 | 30.95 [57.55 |19.45 |12.30 . 30.1

A WTE 2R | BRE 2R | ;
BDMIE syt Ry W R 3R
c(cm) e(cm) | I(cm4) i(cm) z(cm3)

6kg 2.41 2.67 27.5 1.90 10.3
9kg 3.06 3.29 64.3 2.38 19.6
10kg 3.19 3.48 79.9 2.49 23.0
12kg 3.36 3.62 104 2.58 28.6
15kg 3.89 410 167 2.94 40.8
22kg 449 488 337 3.45 69.1

30kg 5.20 5.60 607 3.98 108.0

37kg~60kg

s | mam |PERS ~Tik WrEiE | E=E

(m) A B C D E F t | Alcm2) | W(kg/m)
37kg  [10.0/12.0|122.24 |122.24 [62.71 |36.12 |64.69 |21.43 [13.49 | 47.33 37.2
40kgN | 10.0 |140.00 [122.00 |64.00 |41.00 [73.50 |25.50 |14.00 [ 52.01 40.9
50kgN | 10.0/12.0{153.00 | 127.00 | 65.00 |49.00 [74.00 |30.00 |15.00 | 64.20 504
60kg  [10.0/12.0)174.00 | 145.00 [65.00 |49.00 |94.90 |30.10 [16.50 [ 77.50 60.8

]

@ |oeiope| FE-RE—AVH WE-RFE | WERECO | HEFRH)
c (mm) | Ix(cm4) | Iy(cm4) | ix(tmm) | iy(mm) |EE&B(cm3)|EEB(cm3)|EEER(cm3)| EER(cm3)
37kg 53.78 954 226 449 21.8 149 163 71.9 36.9
40kgN 66.9 1,369 231 51.3 21.1 187 205 721 37.8

50kgN 71.6 1,968 334 55.4 22.8 242 275 102.6 52.5
60kg 71.8 3,083 512 63.1 25.7 321 396 187.7 70.7

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




-L—Ib 2/2-

73kg~100kg

Mt

TAE X Tk Ctid

(m)
10.0/12.0
10.0/12.0

]

Alcm2)
93.39
127.69

D F t
43.0 [65.5 1320
53.0 165.5 {39.0

BTE2K | Brm2x

E—AUMN &R
I(cm4) i(cm)
2,000 4.63
3,270 5.06

B
140.0
155.0

C
100.0
120.0

A
135.0
150.0

CR 73kg
CR 100kg

HEERE

BEMuE

e(cm)
6.81
7.43

ETE R

z(cm3)
2940
432.0

]

CR 73kg
CR 100kg

g

c(cm)
6.69
7.57

="

225 (% WS

E5E

C

Si

Mn

P

S

5|aREES
(kgf/mm2)

B
(%)

6kg— 15kg

0.40-0.60

0.40LLF

0.50~0.90

0.045LLF

0.050LLF

58LL.E

1200

22kg

0.45+0.65

0.40LLF

0.50~0.90

0.045LLF

0.050LLF

65LLE

1080

30kg

0.50~0.70

0.10~0.35

0.60~0.95

0.045LLF

0.050LAF

7081k

9LLE

37kg

0.55+0.70

0.15-0.35

0.60~0.90

0.045

0.050

70

9

40kgN

0.63+0.75

0.15-0.30

0.70~1.10

0.030

0.025

82

10

50kgN

0.63+0.75

0.15-0.30

0.70~1.10

0.030

0.025

82

10

60kg

0.63+0.75

0.15-0.30

0.70~1.10

0.030

0.025

82

10

Pk

E5E

LR (%

WA E

C

Si

Mn

P

S

5|RERS
(N/mm2)

B
(%)

B ERE

CR 73kg

0.60-0.75

0.10~0.30

0.70-1.10

0.035LLF

0.040LLF

78011

8LLE

CR 100kg

0.60-0.75

0.10~0.30

0.70-1.10

0.035LLF

0.040LLF

780LL.E

8LLE

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




-N—21/1-

Bz | k& BR:S =

(mm) | (mm) A B C alxXe (kg)

bkg FBH! 4.5 230 | 285 60 53 12X 14 0.18

okg | FBE! 6 | 380 | 36 | 102 [ 104 [ 145x20 | 06
10kg | FBE 6 | 380 | 36 | 102 [ 104 [ 145x20 | 06
12kg | FBE 6 | 380 | 36 | 102 [ 104 [ 145x20 | 06
15kg | 7 [ 400 | 48 | 102 [ 105 [ 17x23 [ 088
2ok B 10 | 500 | 60 [ 127 [ 126 | 22x28 [ 18
7oy E | 125 | 508 [ 62 [ 127 | 130 | 22x29 | 4.09

30k B 16 | 500 | 595 | 127 [ 127 | 23x29 [ 3.1
7o & | 1588 | 560 | 895 [ 127 | 127 | 22x29 | 6.7

37kg B 11 | 520 [ 695 [ 127 [ 127 | 22x29 [ 3
7o5 A | 1826 | 560 | 89.5 [ 127 [ 127 | 22x29 | 86
40kg | NE 20 [ 560 [ 70 | 130 [ 160 | 24x24 | 126
50kg |2 20 [ 560 [ 70 | 130 [ 160 | 24x24 | 143
7oynE | 21 | 560 | 895 [ 127 | 127 | 28x28 | 14
60ke | NZ 20 | 820 | 70 | 130 | 160 | 25¢ 215
T3kg | fafi 28 | 560 [ 70 | 130 | 160 | 285¢ | 9.2
100kg | 5EM 35 | 560 [ 70 | 130 | 160 | 285¢ | 109

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




€=V 1/1-

& (B fImm)

B8 y 5 " - T S E3-=(€)
bkg W3/8 16 4 4 40 26 35
9kg W1/2 26 8 8 42 34 70
10kg W1/2 26 8 8 42 34 70
12kg W1/2 26 8 8 42 34 70
15kg W5/8 30 10 10 50 40 155
22kg W3/4 35 12 10 70 45 250
30kg W3/4 35 12 10 80 55 295
37kg W3/4 35 12 10 80 55 295
50kg W3/4 42 14 7 135 50 505

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.



-ZINAF1/1-

1EE ~TiE& (B AZmm) =
D A B T L L1 (g)
Bk 9 18 15 6 80 15 55
kg 9 22 20 7 80 17 55
10kg 9 22 20 7 80 17 55
12kg 10 24 20 7 93 20 90
15kg 10 26 22 7 93 20 90
22kg 12 32 27 13 | 112 24 150
30kg 16 40 32 15 | 130 35 300

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.



-L—Ib2\ )y 1/1-

L—=ibo)y>r

5

' | 4
lj%i_i':}llb LA ]| HIdBCHY t |12 flc]| 1| n]|hn |#HEE %fi X@F f}il«:t
O9kg | 38| 30| 12| 14| 13 |#35 | 22| 16| 14| 19 5 1 2 |Ss41| &7 |#976| 2| 87
12kg| 50| 40| 12| 14| 13 (%94 | 28| 22| 17| 23| 10| 1 3|Ss41| & #9127 2| 96
15kg| 50| 40| 12| 14| 13|%94 | 28| 22| 17| 23| 10| 1 3|Ss41| & |#9127| 2| 106
22kg| 65| 50| 16| 18| 13 |#95.4|325(325| 20| 35| 10| 2| 4|sSs41| $& |#278] 2| 122
30kg| 75| 50| 19| 21| 13|#6 | 40| 35| 25| 37| 13| 3| 4 |SS41| 8 [#374] 2| 142
37kg| 75| 50| 19| 21| 13|#96 | 40| 35| 25| 37| 13| 3| 4 |SS41| 8 [#374] 25| 157
Ndokg| 75| 60| 19| 21 6 |#97.7| 40| 35| 25| 37| 13| 3| 55 |SS41| #E |#9458| 2.5 | 157
N5Okg| 75| 65| 25| 23(5%40'|115| 41| 34| 23| 37| 15| 4| 8|SS41| # |wi10| 35 170
73kg| 100 | 75| 32| 28| 20|113| 55| 45| 35| 45| 20| 4 SS41|HR 2| 185

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.



A’& 73 I &%

IETﬁM%
O B & Sk

(R 3 I 25 B BB FR)

=KL =l

D=2

@K1 b+ (%x82F)

Exoi

E—LFavy

i f 2 e [ e 12

RG e | e

@0y 7 (W)

®@i—FKL—-JL

H—FL=J

il

(BAL © mm)

L=l

My Ml A

RG

Tl

15kg

#4

14°-18'

610

16,000

4,420

5,570

#4

14°-18'

762

16,000

4,900

6,050

22kg

#4

14°-1g'

610

16,000

4,420

6,020

#4

14°-18

762

16,000

14,900

6,500

#6

9°-32'

762

36,000

7,400

9,600

30kg

#6

9°-32'

762

36,000

7,400

9,600

#6

9°-32'

914

36,000

8,000

10,200

(BAL © mm)

L —Ju

189909,

A

RG

I

TL

15kg

#4

14°-18'

610

1,306

32,000

4,420

8,555

#4

14°-18'

762

1,610

32,000

4,900

9,856

22kg

#4

14°-18

610

1,322

28,000

4,200

8,675

#4

14°-18'

762

1,626

32,000

4,900

9,791

#6

9°-32'

762

1,626

72,000

7,400

14,215

30kg

#4

14°-18'

762

1,645

32,000

5,400

11,500

#4

14°-18'

914

1,949

40,000

6,000

12,048

#6

9°-32'

914

1,949

72,000

8,000

15,200




o

BIENE R (NEY) S ikas

(B : mm)

L=yl A RG B R L Al
15kg #4 |14°-18| 610 | 1,306 |16,000| 4,420 | 9,800
#4 [14°-18| 762 | 1,610 [16,000| 4,900 (10,694

#4 [14°-18| 610 | 1,322 (16,000 4,200 | 9,523
22kg | # 4 |[14°-18 762 | 1,626 [16,000| 4,900 |10,906
#6 |9°-32'| 762 | 1,626 36,000 7,400 (16,200
30kg #6 |9°-32'| 762 | 1,645 (36,000| 7,400 (16,200
#6 |9°-32'| 914 | 1,949 36,000 8,000 {17,400

(B4 : mm)

L=y A | RG| B R L ThiL
15kg #6—3/9°-32'| 610 | 1,306 (30,000 6,050 [13,265
#6—3/9°-32'| 762 |1,610 (36,000 7,400 (16,053
22kg #6—3|9°-32'| 610 | 1,322 30,000/ 6,050 [13,460
#6—3(9°-32'"| 762 |1,626 (36,000 7,400 [16,320
#6—3|9°-32"| 762 |1,645 (36,000| 7,400 [16,556
30kg |#6—3|9°-32'| 914 | 1,949 |40,000| 8,550 |18,550
#8—4| 7°-9' | 914 | 1,949 45,000/ 9,100 |20,000

(BT mm)

L—ivmyysMi A | RG| B 0] 15 1FIE
15kg #4 |[14°-18| 610 | 1,306 | 2,460 (10,000(14,920
#4 |14°-18| 762 |1,610|2,460|11,080/16,000
#4 |14°-18| 610 | 1,322 3,780 9,320 (17,220
= #4 [14°-18| 762 | 1,626 | 3,940 |11,420(19,300
30kg #4 |14°-18| 762 |1,645| 4,540 |11,420/20,500
#4 [14°-18| 914 | 1,949 | 4,540 |15,100/24,180




BEITlER(NEY) ikEs

Jid

%wa:iJ 3

AR

IR

(B © mm)

78572 e

A

RG

L

T

#4

14°-18'

610

1,306

2,460

11,170

16,090

#4

14°-18'

762

1,610

2,460

12,560

17,480

# 4

14°-18'

610

1,322

3,780

11,240

18,800

#4

14°-18'

762

1,626

3,780

12,625

20,185

#6

9°-32'

762

1,626

3,940

17,520

25,400

#6

9°-32'

762

1,645

4,540

17,520

26,600

#6

9°-32'

914

1,949

4,540

19,160

28,240

(B6L : mm)

L—J

099N

RG

L

e

15kg

#6—3

9°-32'

610

1,306

2,480

12,105

17,065

#6—3

9°-32'

762

1,610

2,480

17,730

22,690

22kg

#6—3

9°-32'

610

1,322

3,780

14,860

22,740

#6—3

9°-32'

762

1,626

3,940

17,440

25,320

30kg

#6—3

9°-32'

762

1,645

4,540

17,980

27,060

#6—3

9°-32'

914

1,949

4,540

20,225

29,305

#8—4

7°-9

914

1,949

4,540

21,720

30,800

RUBT

#TL—h16




-HE 1/2-

Bl E R R E (SGP)

FEFR

i

ANES

6A

1/8

10.5

8A

1/4

13.8

10A

3/8

17.3

15A

1/2

21.7

20A

3/4

27.2

25A

1

34

32A

11/4

42.7

40A

11/2

48.6

50A

2

60.5

65A

21/2

76.3

80A

89.1

100A

114.3

125A

139.8

150A

165.2

200A

216.3

250A

267.4

300A

318.5

350A

355.6

400A

406.4

XIX[X[X[X[X[X]|X]|X|X|X|X[|X[X[X[X|X][X][X]|X

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




-HE 2/2-

18EAHE (STK400, STK500)

Wz X AR [kg/m | kg/5.5m | ke/6.0m N x AR
21.7%x19 0.928| 5.10 5.57 165.2X%X5.0
21.7%x23 1.10 6.05 6.60 165.2 %X 7.1
27.2%x19 1.19 6.54 7.14 190.7 X 5.3
27.2%x23 1.41 7.76 8.46 216.3X5.8
340%x23 1.80 9.90 10.8 216.3 X 8.2
34.0X% 3.2 243 134 14.6 267.4%X6.0
427%X23 2.29 12.6 13.7 267.4 X 6.6
427%x24 2.39 13.1 14.3 267.4%x9.3
427% 35 3.38 18.6 20.3 318.5%6.0
48.6 X 2.3 2.63 14.5 15.8 318.5X%X6.9
48.6 X 24 2.73 15.0 16.4 355.6 X 6.4
48.6 X 3.2 3.58 19.7 215 355.6 X7.9
48.6 X 3.5 3.89 214 23.3 355.6 X 11.1
60.5% 2.3 3.30 18.2 19.8 406.4 %X 6.4
60.5% 2.8 3.98 219 23.9 406.4%x7.9
60.5 %X 3.2 452 249 271 406.4 %95
60.5 X 3.8 5.31 29.2 31.9 406.4%x12.7
76.3% 2.8 5.08 279 30.5 4572 X 6.4
76.3 X 3.2 5.77 31.7 34.6 457.2%x7.9
76.3%X 4.2 7.47 411 448 457.2%X95
89.1x28 5.96 32.8 35.8 4572 % 12.7
89.1 X 3.2 6.78 37.3 40.7 508.0 X 6.4
89.1 xX4.2 8.79 48.3 52.7 508.0x 7.9
101.6 X 3.2 7.76 427 46.6 508.0 X 9.5
101.6 X 3.5 8.47 46.6 50.8 508.0x 12.7
101.6 X4.2 10.1 55.6 60.6 558.8 X 6.4
114.3%X 35 9.56 52.6 57.4 558.8 X 7.9
114.3%X4.0 10.9 60 65.4 558.8 X 9.5
114.3%X45 12.2 67.1 73.2 558.8%x12.7
139.8%x4.0 134 73.7 80.4 609.6 X 9.5
139.8 X45 15.0 82.5 90.0 609.6 X 12.7
165.2 X 3.7 14.7 80.8 88.2 609.6 X 16.0
165.2 X 4.5 17.8 979 107

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




-VICT3A >k 1/4-

VICYaq>hk

BEXR X -ZAEH-TE

250

A&

EHEN

EEERAE

BS®RERE

S-0

20A~300A

10kg/cm2

20A—300A

20kg/cm2

JISER#&
BoERME
SGP{th

AT L RE
TFILS=H L

100A~300A

50kg/m2

JISFR#E
EHEERME
STS-STPGith

(m 0 s | Vi

40A—80A

10kg/m2~1.5kg/m2

50A—200A

20kg/m2

JISFRHE
BoE R E
SGP{it

50A—150A

xS aA
k

50A—150A

50A—150A

10kg/m2

JISHER#&
BoERME
SGP{it

50A—400A

10kg/cm2

20A—450A

20kg/cm2

50A—200A

40kg/cm2-70kg/cm2

JISFR#E
BoE FEHE
SGPh

RTULRHE

350A~500A

5kg/m2

530A—1500A

10kg/m2~~5kg/m2

JISHER#&
SGP-STPYth

25A—300A

10kg/m2

20A-200A

20kg/m2

JISHR#&
BoERME
SGP{th

RTULREE
FILEZ L

5

50A—1500A

10kg/m2~5kg/m2

HkE

50A~300A

70kg/m2

80A—300A

120kg/m2

JISFR#E
BoE FHE
STPGith

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




MBIRART &

EARti&E

-VICT3A >k 2/4-

E

la

o
d
|

Yald—ho—

Sand—h35—RiE Sand-RyUBE N o %

Lald—

EARTE MAS—SEET I

& (JISHE)

AT —HhF—EKTiE

LR

EfE oD

Ds

L

b

CD

d

100 114.3

130(+1.2~-0.4)

17(+1~-0)

50

131.0

115.0

125 139.8

157(+1.2--0.4)

17(+1~-0)

50

158

140.5

150 165.2

183(+1.2~-0.4)

17(+1~-0)

60

184.0

166.0

200 216.3

236(+1.2~-0.4)

20(+1~-0)

60

2375

2175

250 267.4

286(+1.2~-0.4)

20(+1+~-0)

60

2875

268.5

300 318.5

337(+1.2~-0.4)

20(+1~-0)

60

338.5

320

—_— T —

~ 1A
éd}ﬁ"é’}iﬁts\A
i |

&l

23 b T BAGHIA | BAHE | HEmLR
c 7 LR d X

ZER [HEEER 0 5
57 |[W5/8 x97|M16 X 100 1°19' 225
59 [W3/4x115|M20 % 115 1°05’ 18.5
61 |W3/4x115(M20 % 115 56’ 16
72 [W7/8x140|M22 X 140 43’ 12.5
72 |W1 X150 [M24 x 150 36’ 10
74 |W1 X 150 [M24 X 150 30’ 8.5

ABRKIE

kg/m2
100
100
100
100
100
100

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




SRIEARTE

KT iE

I <ti&

-VICT3A >k 3/4-

Ds

L
—
o

i

Yald—hT—B%

YAl -3y TEE

=

yald—h7—
it &

& (JISHHE)

EARTiE

AT —ho—B KTiE

=4
i

Sals—
stk

T

oD

Ds

L

CD

d

CD

20

27.2

34.0(+0.8~-0.4)

15.0(+0.8—-0)

34(+0.5--0.3)

27.6(%+0.3)

40

25

34.0

39.0(+1.2~~-0.4)

15.0(+0.8—-0)

39(+0.5)

34.5(+0.3)

40

32

42.7

48.6(+1.2~-0.4)

15.0(+0.8—-0)

48.6(+0.5)

43.1(+0.3)

40

40

48.6

54.0(+1.2~-0.4)

15.0(+0.8—-0)

54(+0.5)

49(+0.3)

40

50

60.5

66.5(+1.2~-0.4)

15.0(+0.8—-0)

67(%0.5)

61(=+0.3)

40

65

76.3

82.5(+1.2~~-0.4)

15.0(+0.8—-0)

83(+0.5)

77(+0.3)

40

80

89.1

97.0(+1.2~~-0.4)

15.0(+0.8—-0)

97.5(+0.5)

89.5(+0.3)

40

90

101.6

109.5(+1.2+~-0.4)

16.0(+0.8—-0)

110(=+0.5)

102(+0.3)

40

100

114.3

122.0(+1.2~-0.4)

16.0(+0.8—-0)

123(+0.5)

115(=+0.3)

40

125

139.8

148.0(+1.2~-0.4)

16.0(+0.8—-0)

149(=+0.5)

140.5(+0.5)

40

150

165.2

174.5(+1.2~-0.4)

16.0(+0.8—-0)

175.5(%0.5)

166(=+0.5)

40

175

190.7

200.0(+1.2~-0.4)

16.0(+0.8—-0)

201(+0.5)

191.5(+0.5)

40

200

216.3

228.5(+1.2~-0.4)

19.0(+0.8—-0)

229.5(*0.5)

217.5(*0.8)

50

250

267.4

279.5(+1.2~-0.4)

19.0(+0.8—-0)

280.5(*0.5)

268.5(+0.8)

50

300

318.5

330.0(+1.2~-0.4)

19.0(+0.8—-0)

331.5(*0.5)

331.5(+0.8)

(o2 [=>] [e>] [ R [ R[S0 (&3] (S ) B Foy) B o) By oy B fo )

50

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




-VICT3A >k 4/4-

DaA btk

B

C

ARILE dXxI

=
B

K

5
2t
&
E

JE-EE

ABRKIE

HREE

2

{45 E P

E

D

0

kg/m2

kg |

104

42

M10 X 55

5.0

N
—_

128

35

0.6

131

42

M10 X 55

5.0

—_
oo}

75

35

0.8

162

42

M10 X 65

5.0

($;]
~

51

35

1.1

201

46

W1/2x78

M12 X 80

6.0

N
©

49

35

1.8

229

48

W1/2x78

M12 X 80

6.0

—_
©

40

35

2.1

257

48

W1/2x78

M12 X 100

6.0

(&)
o0}

34

35

3.0

332

59

W1/2 %100

M16 X110

6.4

w
(=}

27

35

5.0

399

61

W3/4 X122

M20 X 125

6.4

—_—_ = = = NN DN
of of of of o) o] o] of o

—_
[0}

22

35

8.3

448

63

W3/4 X142

M20 X 145

6.4

o
[=>}

19

35

9.8

3Tk

C

ARILE dXxI

Ex

K

5
2t
&
E

JE-EE

ERKE

HREE

122

{45 E 7

E

D

0

kg/m2

kg |

46

W1/2 x40

M12 X 40

5.0

N
—_

128

105

0.9

45

W1/2 X 60

M12 X 60

5.0

—_
[0}

92

105

1.2

43

W1/2 X 56

M12 X 55

5.0

—_
oo}

75

70

1.0

43

W1/2 X 60

M12 X 60

5.0

60

70

1.4

44

W1/2 X 66

M12 X 70

5.0

a1l
~ |00

91

70

1.7

51

W1/2x78

M12 X 80

6.0

o
o5}

54

70

2.3

51

W1/2 %78

M12 X 80

6.0

S
©

49

70

2.5

54

W5/8 X 102

M16 X 100

6.0

—_
©

40

70

3.6

97

W5/8 X112

M16 X110

6.0

($]
oo

34

56

5.0

60

W5/8 X 122

M16 X 120

6.0

N
wW

29

56

5.9

61

W3/4 X132

M20 X 135

6.4

w
(2]

27

56

14

76

W3/4 X 152

M20 X 150

6.4

=== == ININ|WIN WA~ O

—_
oo}

22

56

11.9

79

W3/4 x 158

M22 X 155

6.4

o
[=>]

19

56

17.2

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




A7 IIVR

-TJUR1/1-

BT mm
& | sipop |TLASHEETOER FLpetl TASEE WRES kg 90 E (L)
F H P K SGP__| S40 | S80 [ S120] S160
1/2__[217 38.1 15.8 76.2 49.0 0078 __ |0.078 [0.098 0.118
3/4__[272 38.1 15.8 76.2 51.7 0.101 __|0.104 [0.134 0.176
1 [340 38.1 15.8 76.2 55.1 0.145 __ |0.153 [0.196 0.260
11/4 142.7 47.6 23.7 95.2 69.0 0.253 0.259 ]0.341 0.428
11/2_|486 57.2 237 1144 [815 0349 0.368 [0.491 0.652
2 [605 76.2 31.6 1524|1065 [0.635 __ |0.651 |0.892 133
21/2 [763 95.3 395 1906 [1335 _ [1.12 1.36_[1.79 2.34
3 [89.1 1143|473 2286|1589 158 203 _[2.74 383
31/2 [101.6 _ [1334 _ [553 2668 [1842 _ [2.11 2.82_|3.91 5.83
4 [1143 _ [1524 _ |63.1 3048 [2096 _ [291 383 |5.36 [6.76 [8.03
5 [139.8  [1905 _ [789 3810 2604 449 6.48 [9.13 [11.9 [145
6 165.2 228.6 94.7 457.2 311.2 7.09 9.93 [150 [19.1 |23.7
8 216.3 304.8 126.3 609.6 413.0 14.4 20.1 [30.5 (425 (524
10 2674 381.0 157.8 762.0 514.7 254 354 [56.2 [77.6 [101.0
12 318.5 457.2 189.4 9144 616.5 38.0 56.2 [92.7 [132.0 |168.0
14 355.6 5334 220.9 1066.8 711.2 56.7 78.9 [132.0 [188.0 [236.0
16 406.4 609.6 252.5 1219.2 812.8 74.3 118.0 |194.0 350.0
18 |457.2 _ |685.8  |2841 _ [1371.6 [9144 _ [942 168.0 [274.0
20 [5080 _ [7620 _ |3156 _ |15240 [10160 [1160 _ [219.0 |372.0
iﬁi:mm
e | sipop |PUODHEETOER|TERRE"| $2nnn WIREE kg 90 E (L)
H P K SGP S40 | S80 | S120| S160
1 34.0 254 50.8 42.4 0.097 0.102 {0.130
1/4 142.7 31.8 63.6 53.2 0.169 0.173 [0.228
1/2 148.6 38.1 15.8 76.2 62.4 0.233 0.245 [0.327 0.434
2 60.5 50.8 21.0 101.6 81.1 0.423 0.434 [0.595 0.886
21/2 |76.3 63.5 26.3 127.0 101.7 0.744 0.909 {1.19 1.56
3 89.1 76.2 31.6 152.4 120.8 1.05 1.36  {1.83 2.55
31/2 |101.6 88.9 36.8 177.8 139.7 1.41 1.88 [2.61
4 114.3 101.6 421 203.2 158.8 1.94 255 357 1450 [5.35
5 139.8 127.0 52.6 254.0 196.9 2.99 432 [6.08 ]7.93 19.68
6 165.2 152.4 63.1 304.8 235.0 472 6.62 |10.0 |12.7 [15.8
8 216.3 203.2 84.2 406.4 3114 9.6 13.4 (20.3 284 |35.0
10 2674 254.0 105.2 508.0 387.7 16.9 236 |374 |51.7 |67.1
12 3185 304.8 126.2 609.6 4641 254 374 618 1878 |112.0
14 355.6 3556 147.3 711.2 5334 37.8 52.6 |88.0 |125.0 |157.0
16 406.4 406.4 168.3 812.8 609.6 49.5 786 ]130.0 233.0
18 457.2 457.2 189.4 9144 685.8 62.8 112.0 {183.0
20 508.0 508.0 2104 1016.0 762.0 17.7 146.0 {248.0

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




1

R

- —IV RISk 1/1-

171

380
276 .
) 95 95 95 ‘
; ' I
s 4= ﬁ» |
= N
Sen st J
g . @ @ <
: o ) .
i o e o
,;_2 T ~| H 3_
LN _?_'_j |~\
@ 1) s | PR
ﬁ] 5 - f-jq\ = /-
B .
380

[

RS

240 2,000, 3,000, 3,600
300 2,000, 3,000, 3,600
380 2,000, 3,000, 3,600

B[ :mm

ZTDY A XY, AR IHEHMAYVET .

o %80 .
L 244

— 1 R—
I ¢ e i 2
! { I} b
b € g K 3
Jr B —
L £ i 4 E3
| 1y ]
[ — — i wf i
& t 213 -
g 3 T ..._:_°.
G Fi = & |3
- -
|
o
N

:7§i_ _9_5___5_ 95 95 475

o5

52 276 |52,

278 2 )

|

. T

% | |

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.





